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0.857 cos l‘{f +4.175sin
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k=99
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= 1012.992 + 2.302 cos 7t — 216.683sint§ + 0.323 cos ¢ — 14.955sin 27t + 0.555 cos ‘Ta‘ — 17.675sin 1‘[!

l (k =30,L = 1382.352)
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+2.244 cos 17t — 52.664 sin 7t — 1.802 cos %2t + 33.871sin 27t — 1.021 cos ¢ + 16.018 sin %74
+1.786 cos £t — 23.937sin £t — 1.785 cos F¢ + 20.98sin 3¢ — 0.148 cos ¢ + 1.557 sin £t
+1.474cos 07¢ — 13.728 sin 107¢ — 1.347 cos LL7¢ + 11.43sin 147¢ + 1.202cos 2¢ — 9.34sin 27¢
+0.502 cos 177t — 3.584 sin %7t — 1.813 cos 117 + 12.07sin 117t + 1.61 cos 27 ¢ — 10.051 sin ;7 ¢
0.406 cos L7 ¢ + 2.397 sinl%{ 1.
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528 cos L7t + 8.321sin L2t 4 1.774 cos 85t — 9.184 sin L=t
t —0.321 cos 2"t + 1.495 sin 2 ¢ + 1.657 cos %"t — 7.325sin 2"¢
—1.606 cos %7t + 6.749 sin “77t + 0.52 cos %t — 2.085 sin %7

L
t+1.044 cos 27t — 3.983 sin 47 ¢

2.032 cos 27t + 7.459sin 27t + 1.098 cos 277 — 3.854 sin ¢ + 0.365 cos =t — 1.224 sin 27t
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1.506 cos 27 ¢ + 4.931sin Z" ¢ + 1.698 cos 2"t — 5.344sin %7t — 0.539 cos ¥t + 1.648 sin 2" ¢
(k =99) (0
v

= —756.3 — 259.739 cos 7t — 2.771sin 7 + 55.582 cos f + 1.169sin 3¢ + 8.817 cos %7t + 0.28 sin It
F42.762 cos {1 + 1827 sin {7t + 10.094 cos §7¢ + 0.531sin Tt + 12.441 cos T £ + 0.789 sin
—0.524 cos '-T'_f — 0.035sin %f + 1.623 cos %t + 0.141sin Ft — 4.306 cos ”TTf — 0.416 sin ”ft

+0.337 cos 7t + 0.03sin 177t — 1492 cos "t — 0.173sin **¢ + 3448 cos 7t + 0.452sin *7*¢
F1.417 cos 224 + 0.194 sin £97¢ + 2.946 cos li’t £ 0.434sin B7¢ + 0.836 cos 57 + 0.15sin 17t
+1.343 cos 17t + 0.247 sin /7¢ — 0.881 cos 17t — 0.164 sin L7t + 0.066 cos 17¢ + 0.004 sin 157¢
—0.877 cos ‘%f — 0.185sin l%f + 0.487 cos %r + 0.101 sin LLJ"Y + 0.132 cos %f + 0.032sin %t
+0.951 cos 27t + 0.223 sin Z=¢ + 0.582 cos 7 + 0.14 sin 2%¢ + 1.04 cos 2= ¢ + 0.273 sin 217¢
0.045 cos 27t — 0.01sin £7¢ + 0.225 cos 2=t + 0.06 sin 27t — 0.441cos?"t — 0.131 sin 27t
+0.023 cos "}_—3‘ + 0.005 sin "‘%f —0.22cos j’{f — 0.065 sin 'Lif + 0.293 cos %f + 0.099 sin %f
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import numpy as np ";ﬁ,}
import matplotlib.pyplot as plt 1 = [0]%100
) = [0]#100
import math m B [0]=10

pI = np.pi1

T=0
BEEIZr1ILOT7 »FO—-F for i in range(0.N-1):

. . L= [x_listlil-x_list[i+
from google.colab import files L = math.sqrt(L)
uploaded file = files.upload() T4sL

T=T1/2
= a=-T
277 7 ILBDEE b=T
uploaded file_name = next(iter(uploaded_file))
) ‘ 322 +7232F (1000#%UET)
print(uploaded file name) for n in rangs (100):
s =10
from google.colab.patches import cvi_imshow ; A I
or 1 1n rangell, H
TEAE inread TEIRZ SidA T s += (x_list[i1)*np.cos(n*pi*t/T)*(b-a)/(N-1)
cv_img = cv2.imread( ' circle.png’) t 4= (b-a)/(N-1)
allnl =s /T

ffev2 imshow T ]/
cv2_imshow(cy_img)

plt.gcal().set_aspect(’equal
plt.show()

\

Dx(x_listlil-x_list[i+1]) + (y_list[il-y_list[i+11)*(y_list[il-y_list[i+1]

= 3

0o AR — FF2:EF (100E# YR
for n in range(100):

t =a
s =10
for i in range(0,N-1):

s += (x_list[i])*np.sin(nxpixt/T)x(b-a)/(N-1)

t += (b-a)/(N-1)

1oL —BRICER gl Sl
ims_dstd = cv2.cviColar(ov_ims, cvZ.COLOR_BERZCRAY) =il = el / %
. o
mauzgf‘:?nj— ;G . fanBlur (i dst0, (11,110, 1) 4 R
1m, 5 = cvi. baussianpliurbim =3 0 . .
a.Ef’ 5 M5 28— T 3EE (100@BYET) b2 = [0]#100
thresh = 180 for n in range(100):
rest, img_dst? = cv2.thresheld(ims_dst]. thresh, 255, 0) t=a 0 s 22— Fed3EE (1000 YIRT)
cvZ_imshow(img_dst2)
T nenonline e s=0 for n in range(100):
" for i in range(0,N-1): s =0
contoure, hisrarchy = cv2.findContours s += y_list[iJ*np.sin(n¥pi*t/T)*(b-a)/(N-1) _
ime_dst2, cv2.RETR_TREE. cv2.CHALN_APPROX_S(NPLE - i t=a
. t 4= (b-a)/(N-1) s
oG b2n] = s / T for i in range(0,N-1):
i o T 7 = a2[0] / 2 s += y_list[i]*np.cos(n*pi*t/T)*(b-a)/(N-1)
for i in range(], le |Lunlr?\u\51 t += (b-a)/(N-1)
£ len(contoursi]) >
buf_np - contaursli.flatten() § nunpym S ®ESICH =T LAk, —BEMTA. x = np. | inspace a?[n] =s /T
?Z[‘T”Ifém"ﬁ R e et % i o2 ‘
it ixzeen: R a1 += allkJsmp.cos(kEpite/T) + bi[klsnp. sin(ctpisw/T)
x_list.append(elen 52 += aZ2[k]tnp.cos(k*pi®x/T) + b2[k]1*np.sinlk*pi*x/T)
Cl=8 if k ==2o0rk==4o0rk==8ork==156or k == 80 or k == 75 or k == 99:
y_list.append(-12elen) " - . g
N = len(x_list) plt.plot(sl, s2, label="k={}".format(k))
print (N plt.legend(prop={"size”: 10})

', adjustable="hox")
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